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Given (૚ + ૛૙૛૜(૚(࢞ − ࢞ + ૛)૛૙૛૛࢞ = ૙ࢇ + ࢞૚ࢇ + ૛࢞૛ࢇ + ⋯+  ૟૙૟ૠ. Also, if the࢞૟૙૟ૠࢇ

equations ࢘ࢇ ≡ ૚	(ࢊ࢕࢓	૞) and ࢘ࢇ ≡ ૛	(ࢊ࢕࢓	૞),࢘ ∈ {૙,૚,૛,૜, … ,૟૙૟ૠ} has ࢓ and ࢔ 

solutions respectively, then prove that: 

ඩ૚ + ૛ඨ૚ + ૜ට૚ + ૝√૚ + ⋯ = √૚ +  ࢔࢓
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So, ࢓ = ૝ and ࢔ = ૛, then  ࢔࢓ + ૚ = ૡ ⇒ +࢔࢓√ ૚ = ૜ 

૜ = √૚ + ૡ = √૚ + ૛ ⋅ ૝ = ට૚ + ૛√૚ + ૚૞ = ඨ૚ + ૛ට૚ + ૜√૛૞ = 

 

= ඨ૚ + ૛ට૚ + ૜√૚ + ૛૝ = ඩ૚ + ૛ඨ૚ + ૜ට૚ + ૝√૜૟…  (࢔ࢇ࢐࢛࢔ࢇ࢓ࢇࡾ)

 


